Page: 1



Tabulation of Bids

Contract ID: 13433 Counties: STATEWIDE

Letting Date: October 10, 2013 District(s): H4

Call Order: 433 Project(s): STATE

Contract Time: 12/31/14 COMPLETION DATE

Contract Description: MTN MBVL TUNNEL REPAIR 2014

Line No / Item ID Item Description Alt Set / Alt Member			(1) IEW CONSTR GP, INC		(2) A.P. CONSTRUCTION INC			
		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001		BRIDGE		Cat Alt Set:		Cat Alt Member:		
0001	109006M	1,093,499.000	1.00000	1,093,499.00	1.00000	1,093,499.00		
FORCE .	ACCOUNT	DOLL						
0002	151006M	1.000	0.01000	0.01	2,500.00000	2,500.00		
_	RMANCE BOND AND NT BOND	DOLL						
0003	152004P	1.000	0.01000	0.01	1,000.00000	1,000.00		
	'S AND CONTRACTO CTIVE LIABILITY NCE	PR'S DOLL						
0004	MMG010M	12,000.000	1.00000	12,000.00	1.00000	12,000.00		
TELEPHONE SERVICE DOLL								
0005	MMB172M	8,000.000	471.00000	3,768,000.00	580.00000	4,640,000.00		
LANE CLOSURES HOUR								



Tabulation of Bids Page: 2

Contract ID: 13433 Counties: STATEWIDE

Letting Date: October 10, 2013 **District(s):** H4

Call Order: 433 Project(s): STATE

Contract Time: 12/31/14 COMPLETION DATE

Contract Description: MTN MBVL TUNNEL REPAIR 2014

Line No / Item ID Item Description Alt Set / Alt Member Qua			(1) IEW CONSTR GP, INC		(2) A.P. CONSTRUCTION INC			
		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	1 : 0001	BRIDGE		Cat Alt	Set:	Cat A	It Member:	
0006 SOLID WA	MMB173M ASTE DISPOSAL	40,000.000 DOLL	1.00000	40,000.00	1.00000	40,000.00		
0007 CREW CC	MMB092M OORDINATOR	1,200.000 HOUR	120.00000	144,000.00	120.00000	144,000.00		
0008 REPAIR C	MMB022M ATEGORY "A", MOV	8,500.000 'ABLE HOUR	252.15000	2,143,275.00	270.00000	2,295,000.00		
0009 WELDING	MMB026M CREW	3,700.000 HOUR	377.30000	1,396,010.00	310.00000	1,147,000.00		
0010 60' UNDEI UNIT	MMB044M RBRIDGE INSPECTI	400.000 ON HOUR	0.01000	4.00	150.00000	60,000.00		
0011 MANPOW	MMB142M ERED ACCESS MAC	1,200.000 CHINE HOUR	0.01000	12.00	60.00000	72,000.00		

Page: 3



Tabulation of Bids

Contract ID: 13433 Counties: STATEWIDE

Letting Date: October 10, 2013 District(s): H4

Call Order: 433 Project(s): STATE

Contract Time: 12/31/14 COMPLETION DATE

Contract Description: MTN MBVL TUNNEL REPAIR 2014

Line No / Item ID Item Description		(1) IEW CONSTR GP, INC		(2) A.P. CONSTRUCTION INC			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	BRIDGE		Cat Alt	Set:	Cat A	It Member:	
0012 MMB109M	200.000	0.01000	2.00	60.00000	12,000.00		
MANPOWER ACCESS MACHINE - HOUR TRUCK MOUNTED							
0013 MMB059M	100.000	0.01000	1.00	100.00000	10,000.00		
SHOP FABRICATION	МН						
Section Totals:		\$8,596,803.02		\$9,528,999.00			
С		\$8,596,803.02		\$9,528,999.00			
Cost		\$8,596,803.02		\$9,528,999.00			

() indicates item is bid as Lump Sum

Page:

1



Vendor Ranking

Call Order: 433 Counties: STATEWIDE

Letting Date: October 10, 2013 10:00AM **District(s):** H4

Contract Time: 12/31/14 COMPLETION DATE

Contract Description: MTN MBVL TUNNEL REPAIR 2014 Project(s): STATE

Rank	Vend	or ID/Name	Total Bid	Percent Of Low Bid
1	12943	IEW CONSTR GP, INC	\$8,596,803.02	100.00%
2	A7025	A.P. CONSTRUCTION INC	\$9,528,999.00	110.84%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,